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TRIGONOMETRIE

1. Détermine le quadrant de l’angle considéré si possible :
[image: Screen%20Shot%202017-05-03%20at%202.39.59%20PM.png]

2. Détermine un angle coterminal positif et un autre négatif pour chacun des angles suivants :
[image: Screen%20Shot%202017-05-03%20at%202.40.09%20PM.png]

3. Détermine les angles de référence des angles suivants :
[image: Screen%20Shot%202017-05-03%20at%202.40.17%20PM.png]
[image: Screen%20Shot%202017-05-03%20at%202.40.32%20PM.png]

4. Convertis en radians :
[image: Screen%20Shot%202017-05-03%20at%202.43.41%20PM.png]
5. Convertis en radians et arrondis ta réponse au millième près.
[image: Screen%20Shot%202017-05-03%20at%202.43.48%20PM.png]



6. Convertis en degrés :
[image: Screen%20Shot%202017-05-03%20at%202.47.58%20PM.png]
7. Convertis en degrés, au dixième près.
[image: Screen%20Shot%202017-05-03%20at%202.48.04%20PM.png]

8. a) Détermine le rayon d’un cercle si un arc de 30 degrés correspond à un arc de 3.




b) Détermine la longueur d’arc sous-tendue par un angle de 190 degrés dans un cercle de rayon 15cm.




c) Détermine l’angle en degrés qui sous-tend un arc de 5cm dans un cercle de rayon 6cm.




9. Détermine les rapports trigonométriques suivants :
[image: Screen%20Shot%202017-05-03%20at%202.54.18%20PM.png]

[image: Screen%20Shot%202017-05-03%20at%202.54.36%20PM.png]

10.  Simplifie les expressions suivantes :
[image: Screen%20Shot%202017-05-03%20at%202.55.43%20PM.png]


[image: Screen%20Shot%202017-05-03%20at%202.56.19%20PM.png]
11.  Détermine les restrictions pour .
[image: Screen%20Shot%202017-05-03%20at%203.39.06%20PM.png]

12.  Détermine dans quel quadrant l’angle se trouve :
[image: Screen%20Shot%202017-05-03%20at%203.40.00%20PM.png]
13.  Détermine les 5 rapports manquants :
[image: Screen%20Shot%202017-05-03%20at%203.41.45%20PM.png]

[image: Screen%20Shot%202017-05-03%20at%202.57.24%20PM.png]
14.  Détermine les valeurs exactes suivantes :
[image: Screen%20Shot%202017-05-03%20at%203.43.48%20PM.png]
15.  Résous pour .
[image: Screen%20Shot%202017-05-03%20at%203.46.31%20PM.png]
16.  a) Détermine la période de .

 b) Détermine la période de .

 c) Représente graphiquement 
[image: graph%20paper%20petit.png] 
d) Représente graphiquement 
[image: graph%20paper%20petit.png]e) Détermine une fonction sinus dont un maximum est le point (2 ;3) et le minimum le plus proche est (6 ; -7).





f) Détermine une fonction cosinus dont un maximum est le point (2 ;3) et le minimum le plus proche est (6 ; -7).





g) Détermine 2 fonctions sinus (a>0 et a<0) pour décrire le graphe suivant :
[image: Screen%20Shot%202017-05-03%20at%204.04.28%20PM.png]

h) Même question avec 2 fonctions cosinus.




i) Détermine domaine, image et asymptotes de 




j) Détermine domaine, image et asymptotes de 




17. 
[image: Screen%20Shot%202017-05-03%20at%204.19.53%20PM.png]
[image: Screen%20Shot%202017-05-03%20at%204.51.10%20PM.png]
18.  Détermine les valeurs exactes des expressions suivantes :
[image: Screen%20Shot%202017-05-04%20at%2010.04.14%20AM.png]



19.  Simplifie :
[image: Screen%20Shot%202017-05-04%20at%2010.04.46%20AM.png]

20.  Détermine la valeur de l’angle .
[image: Screen%20Shot%202017-05-04%20at%2010.05.17%20AM.png]




21.  Simplifie  en un seul rapport et détermine sa période. 



22.  Ecris en un seul rapport : 



23.  a) Sachant que A et B sont dans le quadrant III, que  et que , détermine la valeur exacte de .




 b) Sachant que  (dans le quadrant II) et que  (dans le quadrant IV), détermine la valeur exacte de .




 c) Sachant que  (quadrant III) et que  (quadrant II), quelle est la valeur de ?


24.  Détermine les valeurs exactes suivantes :
[image: Screen%20Shot%202017-05-04%20at%2010.06.19%20AM.png]

25.  Détermine les valeurs exactes suivantes :
 [image: Screen%20Shot%202017-05-04%20at%2010.07.22%20AM.png]


[image: Screen%20Shot%202017-05-04%20at%2010.09.08%20AM.png]

26.  a) Simplifie en 1 seul rapport trigonométrique et détermine la période et l’amplitude de : 
    





 b) Simplifie  et détermine sa période et son amplitude.





27.  Combien de solutions y a-t-il entre 0 et ?
[image: Screen%20Shot%202017-05-04%20at%2010.36.42%20AM.png]
28.  Prouve les identités suivantes :
[image: Screen%20Shot%202017-05-04%20at%2010.37.49%20AM.png]
[image: Screen%20Shot%202017-05-04%20at%2010.39.41%20AM.png]




[image: Screen%20Shot%202017-05-04%20at%2010.40.21%20AM.png]
[image: Screen%20Shot%202017-05-04%20at%2010.40.58%20AM.png]
[image: Screen%20Shot%202017-05-04%20at%2010.41.33%20AM.png]

29.  Détermine les solutions entre 0 et (i) et les solutions générales (ii) :
[image: Screen%20Shot%202017-05-04%20at%2010.44.14%20AM.png]

[image: Screen%20Shot%202017-05-04%20at%2010.44.44%20AM.png]

30.  Même question :
[image: Screen%20Shot%202017-05-04%20at%2010.46.03%20AM.png]

[image: Screen%20Shot%202017-05-04%20at%2010.46.30%20AM.png]
[image: Screen%20Shot%202017-05-04%20at%2010.46.53%20AM.png]


[image: Screen%20Shot%202017-05-04%20at%2010.48.08%20AM.png]

[image: Screen%20Shot%202017-05-04%20at%2010.48.29%20AM.png]
31.  Résous graphiquement :
[image: Screen%20Shot%202017-05-04%20at%2010.49.00%20AM.png]




CHOIX MULTIPLES
[image: Screen%20Shot%202017-05-04%20at%2010.56.20%20AM.png]
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) Ifthe voltage E in an electrical circuit has an amplitude of 110 volts and a period of  secor
E = 110 whent = 0, find a periodic equation in terms of cosine that describes this voltage.

b) The pedals on a bicycle have a maximum height of 30 cm above the ground and a minimum ¢
of 8 cm above the ground. A person pedals at a constant rate of 20 cycles per minute.

() Whatis the period in seconds for this periodic function?

(i) Determine an equation for this periodic function,

©) A ferris wheel of radius 25 metres, placed one metre above the ground varies sinusoidally witl
The ferris wheel makes one rotation every 24 seconds, with a person sitting 26 metres from th
‘ground and rising when it starts to rotate.

() Write a sinusoidal function that describes the function from a person’s starting position.

(i) How high above the ground would a person be 16 seconds after the ferris wheel starts mo

(i) How many seconds on each rotation is a person more than 35 metres in the air?
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ides are a periodic risc and fall of water in the ocean. A low tide of 4.2 metres in White Rock, B.C.
‘occurs at 4:30 a.m., and the next high tide of 11.8 metres occurs at 11:30 a.m. the same day.

() Write a sinusoidal function that deseribes the tide flow.

(if) Whatis the tide height at 1:15 p.m. that same day?

al function rests 1.6 metres above the ground. If the mass on the spring
is pulled 1.1 metres below itsresting position and then released, it requires 0.5 seconds to move from
the maximum position t its minimum position. Assuming friction and air resistance are neglected,

(i) Write an equation in terms of cosine that deseribes this periodi function.

() What heigh i the spring 2.3 seconds afer being released?

A tsunami, usually called a tidal wave, is a very fast moving ocean wave caused by earthquakes that
oceur underwater. The water willfirst move down from its normal level, then move an equal distance
above the normal level, then finally back to normal. The period of this tsunami is 16 minutes with an
amplitude of 8 metes. The normal depth of water at Crescent Beach, B.C. is 6 metres.

(@ Whatis the maximum and

imum height of water caused by the tsunami at Crescent Beach?

(i) Write a periodic model of the tsunami when it first reaches Crescent Beach.

(i) 1F you were in a boat out in the ocean, how would the tsunam affect you?
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62

Simplify: cos[.r-v%]-w{x
) 0

b) ~2sinx
o 2sinx
~ &) 2cosx
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63. Solve: 8sin*x+2sin’ x=1=0, 0" $x<360"
) 30, 150°
b) 60, 120"
© 30,150, 210°, 330"
4 60°, 120°, 240°, 300°

64. Simplify (sin.x~cos.x)? = (sinx+ cos x)* .
n o0

65. Determine the value of cscx if tanx=-a, where a>0, cosx<0

=Jaei

)
@’ +1
b) N
g Vet
a
la’-1
d) .

66. Determine the value of cos6 if csc0=5, Where 4n < 0 and sec > 0.

Ja -5

2

:

w =HE
7

o B

4 =4

5

67. Determine the general solution for cos 2x =

rx amx i
0 33 Fedn nanineger

R S

o 1, %

272" T

S, nan ntger

TP —
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oG8, Determine the general solution of cos x-+2cos’ x =0

LR A e ]

[ S oo

© x=ur, '-%OZIM’. x-’T‘ozm
I3 st "

x=Zann, = oonm, va iy

0 wxafonn, ve¥amn, xe2oon

69. A cosine curve has a maximum point at (2, 16) and the nearest minimum point o the ight of this point
8t (7, 4). Which of the following s an equation for this curve?

B ye6eosfe-2+10
b) y-am%(xo:)&lﬂ
O yesenic-2410
o yesenZien o

70. Determine an equation for the function below

0 y=-sinfx-nal

x
B y=sinZ
) yesind

D+l

o

3
casfleeD+l

@ y=eosfe-341
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For questions 71 and 72
/A Ferris wheel has a radius of 25 m and rotates every 80 seconds. A rider enters the sat at the lo
point of the Ferries wheel 2 metres above the ground,

71. Determine a sinusoidal function thatgives the height ,afer ¢ seconds of motion fo the rder
h==25sinf X J 7
D) u-[w, +2:

) h-ulm(‘—‘;f]d’r

x
D) h:-Zlco{ElJ‘-ﬂ

@ h-zm{%:}n

72. At what time does the rider firs reach a height of 35 m?
) A see
b) 14.5sec.
© 240 sec.
@) 5455

For question 73, 74, and 75

73. At White Rock pit the maximum depth of 8 meters occurred at 4:00 a.m. on July 1 with the minior
depth of 2 meters occurring 6 hours later. Determine a sinusoidal curve in terms of ine for ths fur

B d0=-sin(x-1)+3

b) dn=

infx-1+s
9 di= .m%(x»l)u
9 d=ssinfe-n+3

74. What was the depth of waterat Wite Rock pier at 12 p.m, on July 17
) 25 meters
b) 3meters
© 35 meters
@) 4 meters

7S. Determine the frst time on July 1 that the water reached a depth of 7 meters.
2 224am.
b) 239am.
© 52am.
d) 536am




image1.png
a) 150°

© 3140

e 612°

g 1100°

i 810°

b) 150"

d) -314°

n -537°

h) 6325°

i -900°




image2.png
a) 150°

o 314

e 612°

g 1100°

i 810°

b) -150°

d) -314°

n -537°

h) 6325°

i -900°




